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1.	 	 2565 + 1610	= x.240

	(28)5 + (24)10	= x.240

	 240 + 240	= x.240

	 240 (1 + 1)	= x. 240

	 x	= 2  olur.
Cevap: C

2.	 •	 a2 = ab.b	 ⇒	 b = a2–b

•	 b
1  = a4.a–b	 ⇒	 b = ab–4

	 	 O halde	 a2–b	= ab–4

				    ⇒   2 – b	= b – 4
				    2b	= 6
				    b	= 3
b = 3     ise     3 = a2–3

	 	 3	= a–1

	 	 a	= 13

O halde a.b = 3
1 .3 = 1  olur.

Cevap: A

3.	 4a = 3	 ise	 4a.b	= 3b

3b = 5	 ise	 x   3b.a	= 5a

			
			  12ab	= 3b.5a

O halde .
5
12 3 3 5

5
5

a
ab

a

b a
b= = =  çıkar.

Cevap: B

4.	 2a = 51   ise   2 5a
a

a1 1
1

=+ +   olur.

O halde 10 a
a
1+  = .2 5a

a
a
a

1 1+ +

	 ↓

	 = 5 5a a
a

1
1

1+ +

	 = 5 a
a

1
1
+
+

	 = 51 çıkar.
Cevap: A

5.	 A

B a

c

C

⇒  A(A¿BC) = .c a
2  

bizden istenen.

•	 2c = 9	 ise	 2 2
1

c^ h  = 9 2
1^ h 	 ⇒	 2

c
2  = 3  olur.

•	 3a = 8	 →	 2
c a
2` j  = 8

		  2
.a c
2 	= 23

	 	 ⇒   .a c
2 	= 3  çıkar.

Cevap: D

6.	 	 4x+3 – 3y	 = 4x+2 + 3y–1

	 4x+3 – 4x+2	 = 3y–1 + 3y

	4x(64 – 16)	 = 3y
3
1 1+` j

	 4x. 48
12

	 = 3y. 3
4

	 4x.4.3	 = 3y–1

	 4x+1	 = 3y–2    ⇒    x + 1 = 0    ve    y – 2 = 0
	 x	= –1	 y	= 2
	 ⇒     x.y = –2   olur.

Cevap: D

7.	 10232 = 1046529   ise
20462 = 10232.22	= 4.1046529
	 = 4186116
⇒ 	rakamları toplamı 4 + 1 + 8 + 6 + 1 + 1 + 6 = 27 

olur.
Cevap: D
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8.	 •	 12x = 4     ⇒     22x.3x = 22     ⇒     3x = 22–2x

	 ⇒	 2y	 = 31

		  22–2x	 = 3x	
⇒	 x

y
2 2- 	 = x

1

					     xy	 = 2 – 2x
					     2x + xy	 = 2
					     x(y + 2)	 = 2

					     x	 = y 2
2
+

Cevap: D

9.	 •	 	 25x – 9y	= m
		  (5x)2 – (3y)2	= m
		 (5x – 3y)(5x + 3y)	= m
	 	 n.(5x + 3y)	= m

		  5x + 3y	= n
m

•	 	 5x – 3y	= n

	 +	 5x + 3y	= n
m

	
		  2.5x	= n + n

m

		  5x	= n
n m
2
2 +

Cevap: B

10.	 34 + 35 + 36 + … + 310

= 34(1 + 3 + 32 + … + 36)
	
	 A
= 34.A
= 81.A

Cevap: D

11.	 •	 3x = a

	 5–x = b     ⇒     5x = b
1

	 7x = c–1 = c
1

•	 (105)x = 3x.5x.7x

	 	 = a. .b c
1 1

		  = .b c
a

Cevap: D

12.	 •	 3.3.3. … .3 = K	 ⇒	 K = 3x

	
	 	 x tane

•	 3 + 3 + … + 3 = L	 ⇒	 3x.3 = L = 3x+1

	
	 	 x tane

⇒		  3x	= a.3x+1

		 3x–x–1	= a

		  3
1 	= a

Cevap: C

13.	 	 16a–12	 = 2524

	16a.
16
1
12 	 = 2524

	 24a	 = 2524.1612

	 24a	 = 548.248

	 24a	 = 1048

	 2a	 = 1012     →     2a = 100…0
	
	 12 sıfır

O halde 2a sayısı 13 basamaklıdır.
Cevap: E

14.	 aa + aa + aa + aa = 226

	 4.aa	= 22.224

	 4.aa	= 4.(23)8

	 aa	= 88

	 ⇒     a	= 8
Cevap: E


